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1. The rate of flow at delivery end of
hydrant for carriage watering shall not be less
than -

a) 100 lit/min

b) 150 lit/min

¢) 200 lit/min

d) None of above

2. . '_kfer issible 'iﬂllt of total dissolved
solld§\m the absence of alternate source is —
a) 1000 mg/lit
b) 1500 mg/lit

c) 2000 mg/lit
d) 2500 mg/lit

3. To avoid erosion of a sewer, the
maximum velocity of flow in the
sewer is restricted to —

a) 1 mps
b) 2 mps
c) 3 mps
d) 4 mps
4, Minimum height above rail level for a

foot over bridge in a passenger station
is—

a) 6230 mm

b) 6250 mm

¢) 6550 mm
d) 6570 mm

5. Minimum distance centre to centre of
tracks for new works/additions to existing
works:

a) 4265 mm
b) 4278 mm
¢) 5300 mm
d) None of above

6. Minimum height above rail level for a Road
over bridge Where 25 KV A.C. traction is
likely to be used —

a) 6230 mm
b) 6250 mm
c) 5870 mm
d) 5410 mm

7. The normal average annual rainfall over the

whole of India is estimated as
a) 88 cm b) 119cm
c) 217 cm d)290 cm

8. Chose the non-rigid dam in the following:
a) coffer dam b) rockfill dam
c) arch dam d) buttress dam

9. The maximum differential settlement in
case of foundation on clayey soils is restricted
to

a) 10 mm b) 20 mm
c) 30 mm d)40 mm
10. Sheet pile walls are used as

a) uplift preventing devices

b) retaining walls for water front
construction

c) load bearing foundations

d)seepage preventing devices
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The present President of India is -

a) DraupdiMurmu
b) Sri Ram NathKovind
¢) PrativaPatil
d) Sri NarendraModi
12)  RfF A 2024 § W g
T F T T T -
) 5
d) 6
q) 7
Q) 8

Total nos. of medals won by India in Olympic
Games 2024 is -

a) 5

b) 6

c) 7

d) 8
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TajMahal was constructed by —

a) Akbar
b) Shahjahan
c) Jahagir
d) Babar
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The father of Indian missile technology is o
? ?

A. Dr HomiBhabha

B. Dr Chidambaram

C. Dr U.R. Rao

D. Dr A.P.J. Abdul Kalam
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Which of these is the small-scale industry in

India?

A. Jute industry

B. Paper Industry
C. Textile Industry
D. Handloom Industry
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The largest public sector undertaking
in the country is?

a) Railways

b) Airways
c) Roadways
d) Iron and Steel Plants
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At which place on earth are there
days & nights of equal length always?

Equator
Poles
Prime Meridian

Nowhere
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The study of Heavenly bodies is
Known as ?

Astrophysics
Astronautics
Astrology
Astronomy
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Which of the given cities is located on
the bank of river Ganga?
Patna
Gwalior
Bhopal
Mathura
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Head Quarter of East Central Railway
Is =

Patna
Hajipur
Danapur
Sonpur
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Digestion of food in human beings

begins in which part of the
alimentary canal?

Liver

Kidney

Mouth

Large intestine
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Which of these Vitamins are
responsible for Blood Clotting?

Vitamin A
Vitamin B
Vitamin K
Vitamin D
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Where is Lomus Rishi Cave located?
Nasik

Gaya

Varanasi

Bhubaneswar
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The tropic of cancer does pass
through which state of India?

Uttar Pradesh

Madhya Pradesh

Bihar

Andhra Pradesh
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The tomb of a Sufi Saint Is known as

A) ldgah -
B) Masjid
C) Dargah

D) None of these
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What is the pH value for neutral water?
a) 1
b) 7
c) 10
d) 14
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The weight per unit volume of a sample of soil
mass is called

a) dry density

b) specific gravity

c) bulk density

d) unsaturated density
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Permeability of granular soil varies

a) inversely as grain size

b) as grain size

c) as square of grain size

d) inversely as square of grain size




gomaT #r fRar F Rwaar
AT @ -
AU TAE W
AT Wag W

YRTEER §AE W
W wagt W

Failure of the stability of slopes
generally occurs along

a vertical surface

a horizontal surface
a curved surface

all the surfaces
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Two steel parts at right angles are

welded with fillet weld of 10 mm size.

The throat thickness of thefillet weld
should be '

7mm
10mm
12mm
5mm

e arar fr Rufa &, wow

& el §-

a9 HH dlad AT Pleahie 39GRT
F #r

Faw #OF arhd AN HlAaPe
3T A Fr

#H dFd are Flake AT 3T
A gAr arer TEA FT I9A0T Y $r
309 dhd 3N 3ew degdaare AW
& 3947 F fr

In a prestressed member, it is

advisable to use

a) low strength concrete only

b) high strength concrete only

c) low strength concrete but
high tensile steel

d) high 3tr¢ngth concrete and
high terisile steel
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Design of R.C.C cantilever beams is
based on the resultant force at

a) fixed end

b) free end

c) mid-span

d) mid-span and fixed support
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Diameter of main bars in R.C.C
columns shall not be less than

. a) 6mm

b) 8mm
c) 10mm
d) 12mm
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If the thickness is small in

comparison with length and width,
such structural members are called

as~

a) one dimensional
b) two dimensional
c) three dimensional
d) none of these
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g) 6

Number of unknown internal forces in
each member of a rigid jointed plane
frame is

a)1

b) 2

c)3

d)e
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37.

39,

Points of contraflexure are the points
where

a) beam is supported

b) bending moment is zero

c) shear force is zero

d) bending moment changes sign
sdenfae effewior ¥ weRT #r
T & & a/ar wgr ST ¥ 2
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Geologically marble is known as

a) sedimentary rock

b) igneous rock

c) metamorphic rock

d) stratified rock
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For 1 m3 of brick masonry, number of
bricks is

a) 400

b) 450

c) 500

d 550

IITH HTH & HTER et a5y
AT IR R gar &

3N 20X10X 10

) 23X12X 8 QY

H o 19X9X9uH

g 18Xx9xowdr




40.

41.

The standard size of brick as per IS 42.

standard is
a) 20X10X10cm
b) 23X12X8cm

c) 19X9X9cm
d) 18X9X9cm
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Number of compatibility conditions
needed in the analysis of statically
determinate structureare

(a) 0
(b) 2
3
6

43.

(c)
(d)

AR & canites Worsiag
#3991 e & @ g Rear
ST &7

3  afET §u BT F

@)  fecde wiy RBeda &
w) fofae v Boda &

GV G

Plastic analysis of the structures is
used in

(a) Working stress design
(b) Ulitimate strength design
(c) Limit state design

(d)  none of these
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The bending moment about the hinge
support must be

(a) less than zero

(b) equal to zero

(c) greater than zero
(c) Approximately zero
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Minimum number of equilibrium
equations required for a plane frames

analysis of structure is-

D O WN

(a) 2

b) 3

(c) 5

(d 6
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Minimum number of equilibrium equations

required for a space frames analysis of
structureis

45.
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(a)
(b)
(¢)
(d)
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The measurement of al| the work and
supplies are recorded in the

(a) Schedule of the rate
(b) M-book

(c) Road metal rate book
(d) None of these

TIET TR AAT g sAr £y
ST &2

3) 3%

9) 5%

¥) 2%

2) 6%

Earnest money deposit is generally
(a) 3%

(b) 5%

(c) 2%

(d) 6%
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Detailed measurements are certifieq
by

(a) Assistant Engineer
(b) Junior Engineer
(c) S.0.0

(d) None of them
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Soil which contains finest grain
particles

(a) coarse sand
(b) Fine sand

(c) silt

(d)  cay
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When the water table is close to the
ground surface , the bearing capacity
of a soil is reducedto

(a) 1/4
(b) 1/2
(c) 1/3
(d) 1/6
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Pile foundation is provided to

(a) Carry loads

(b)Resist horizontal and uplift force 54

(c)Compact a loose cohesion less
deposit
(d) all of these

U 9 A &THar T F @
P T R e &2

3N PAEFvERw

) o f AN o
W)  argar i | w
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The efficiency of the pile group
depends on

(a) soil type

(b) method of pile installation 55.
(c) pile spacing

(d) all of these
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Garbageis a

(a) Dry waste

(b) Semi liquid waste
(c) liquid waste

(d) None of these
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56.

Biological action is used in

(a) Screens

(b) Sedimentation tanks

(c) Activated sludge treatment
(d) all of these

v
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The sewage is treated by aerobic
action in

(a) settling tank
(b) Trickling filter
(c) oxidation pond
(d) all of these

s defoior efnat & Fefhr
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The settling velocity , in a sewage
settling tank increases due to

(a) increases in specific gravity of
the solid particles

(b) decreases in the size of solid
particles

(c) decrease in temperature of
sewage

(d) none of these
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The solidification of molten magma

within the earth crust results in the
formation of

(a) Sedimentary rocks
(b) Metamorphic rocks
(c) Basalt and traps

(d) Granite

W & 9T fRadr fewar &

FROT gar 2

¥ s

q I sifErmds

) e 60.
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Efflorescence in cement is caused due
to an excess of

(a) alumina
(b) iron oxide
(c) silica

(d) alkalies

TH IO ST A S g F gt
T WUER FH @S § ar
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) A9 HJT W FH 20%

q) A9 YH AR F 20%

H) 394 H T AR F 10%

@) AU YFH TR H 15%

A good brick when immersed in water

bath for hours, should not observe
more than

(8  "20% of its saturated weight
(b) 30% of its dry welght
{c) 10% of its saturated weight
(d) 15% of its dry weight
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As the cement sets and hardens it
generates heat which is called

(a) latent heat

(b) sensible heat

(c) heat of humidity
(d) heat of hydration

T qETor F v W& Fw
| fRE IR # Aar &
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) ATEEHR
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The steel mould for slump test is in
the form of a

(a) cube

(b) cylinder

(c) frustum of a cone

(d) none of these
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63.

Minimum pitch value is equal to

(a) 2.5 times the diameter of rivet hole
(b) 3.0 times the diameter of rivet hole
(c) 2.0 times the diameter of rivet hole
(d) 3.5 times the diameter of rivet hole

TR arel fRart 1 gaerge e 65.

I d& AT gar &
¥ 50
q) 40
¥ 20
10

The slenderness ratio of masonry
walls is limited to

(a) S0

(b) 40

(c) 20

(d 10

st fr AEr e 7 ¥ e

S@RT ATGY S &2

3) asT A7y 66.
) AR

W) el
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The amount of precipitation is
measured by

(a) rain gauge

(b) osmoscope

(c) turbidimeter

(d) all of these

FE AT FHhHre BT ofeT F
e grefr-¥iie 1 ~geaa eard
grar 2-

H) -0.60

@ 055

| 050

& 040

The minimum water-cement ratio for
obtain workable concrete is

(a) 0.60

(b) 055

(c) 0.50

(@ o040
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W) e SShfaaw
q) AT A

The final technical authority of a
project is-

a) Assistant Engineer

b) Executive Engineer

c) Superintending Engineer
d) Chief Engineer .
ey fsor & & v T
IR worfy o = few o @
FET ST #2

) &SR EE

o Feae

W) wNtT AdERe e
Q) s

Time and progress chart of a

. construction is also known as

a) Bar chart

b) Gantt chart

c) Modified milestone chart
d) any of the above
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An invar tape is made of an alloy of

a) Copper and stee|

b) Brass and nickel

c) Brass and stee|

d) Nickel and Steel
ffRe & st we SIS
T T ¥ w1 s wwor
Ly

) T wEReE

T s Nene

")  AHET wfRe

Q) A A A

The first stage of natural process of
sludge digestion is

a) acid fermentation

b) acid regression

c) alkaline fermentation

d) none of these
fPrfafRa # ¥ i gt &
e Resfoiar feeex @1 39ar
T srar &2

U

) FaEdw o

") IMaw gerey

2  WreeEs AT

Trickling filters are used to remove

a) suspended solids

b) colloidal solids

c) organic matter

d) pathqggnlc bacteria
Pt # ¥ e A ¥ &
T 3ty Iy =

¥) 12 hours

) 24 hours

) 28 hours

Q) 2 hours

What is the-detention time for the
domestic septic tank?

a) 12 hours
b) 24 hours

c) 28 hours

d) 2 hours
ﬁwﬂmhﬁwmt
HN  @aw

N IS

W) . SRR IR ot
D

Oxygen sag curve relates to

a) aeration
b) deoxygenation
reparation and deoxygenation

©d) none of these
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72.

73.

74.

AR AR W@ ARART
R F AU 3 Ity R
g &
) 43F8uve
q) 8 ¥ 12 gue
|) 16 & 24 goe 78
Q) 24 ¥ 36 gue '
The detention period for plain
sedimentation tank is usually
a) 4 to 8 hours
b) 810 12 hours
c) 16 to 24 hours
d) 24 to 36 hours
S A FORar 1 Bl @ @
IR F H e Faor &1 gar
g o R
76.
3)  10.25 AeRmAfSRY
q) 12.25 MY
") 14.25 AdAEmAT
) 16.25 fAeamA/eT

One degree of hardness of water
means a content of salts of

a) 10.25 mg/litre
b) 12.25 mg/litre
c) 14.25 mg/litre
d) 16.25 mg/ litre

U ¢ A H FARESS A
o fraetr B &

H) 150 HEamART

) 150 Adamde

") 200 AamAISET

g) 16.25 elama/drey

The fluoride limitation for drinking
water is

a) 1.50 mg/litre
b) 15.0 mg/litre
c) 20.0 mg/litre
d) 16.25 mg/ litre

wir ¥z fhoey & ReoeereT #r a7
g 8-

) 100 ehet/adHAeT/aUET
@) 100 Fre/FIHRE /AT
#) 100 ev/adiH e/

g) 5000 ehrex/astHREI/AvET

Rate of filtration in slow sand filter is

a) 100 lit/m2/hour
b) 100 lit/m2/minute
c) 100 lit/m2/day

d) 5000 lit/m2/hour

AR & ¥ = smdsieey

¥ Hacal F afdw g

¥ wfw R w7 Mo
3R w-rEE

) Serqfd # @ sk
@@

¥ Uk ARt F deror sk
W@

q) 39 wsh

Which of the following are included in
the duties of IOW

a) Inspection & Maintenance of
' Service building
b) Inspection & Maintenance of
Water Supply
c) Inspection & Maintenance of
Approach Road

d) All of above
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Factors to be considered for
orientation of the building

a) Natural light & temperature
b) Prevailing Wind

) Relative Humidity

d) All of above

m#ﬁmm@rm
9T ST &

) I IR
RUC I
[ 9 ek oang
q A AP A

Climatic Condition found in lndfg

a) Hot and Dry

b) Cold and Dry

c) Cold and Humid
d) None of above

9 IR I &Y F Do ey
AT o A &

) 10% ¥ 30%

q) 50% & 70%

) 70% ¥ 90%

Q) A A
Relative Humidity for warm and
Humid Zone ranges between--

a) 10% to 30%
b) -50% to 70%
c) 70% to 90%
d) None of these

st ek o wrk iy &

faméer Frrhyy

150 e
N 200 e
W) 250 dMewRer
&) 300 #evfe

As per IRWM, the water supply
system should be designed on the
basis of

a) 150 lit/day

b) 200 lit/day

c) 250 lit/day

d) 300 lit/day

3o i R & fre B
FRA W AR 8 R s
3) G

9) wfaw e

W) taf frizor

q) 3ol T HooT

The factor not to be considered for

designing a building -

a) Safety

b) Natural Ventilation
c) Noise Control

d) Ornamental Lighting

AT Yo fvefor s wifkar 3
TR FRTET s@a F Ry
Sl (o) & Be v awey
FASE HI JTXTFAT B &

15

25

30

35




One water closet is required for how

many persons (Male) in office building

as per IRWM.

a) 15
b) 25
) 30
d) 35

@ & sia sfae sfafy

FT T A & qHaT 82

¥ e Aew

¥  @Hr a1 A
(3m3TEETy)

|)  Reae Ademor

g) oo oRAT

Which of the following cannot be a
member of colony committee —

a) Health Inspector
b) oW

c) Signal Inspector
d) Elec. Foreman

e 39 g U9 T AT F
foe fawtor w3 e &
fordreror #r amgfa g &-

) 9 H T aX

q) Afgar A & SR

¥ ag # & @R

) ufg a¥ & v aR”

The frequency of inspection of IOW
for FOB & PF Shed

a) Once a Year

b) Once a Month

c) “Twice a Year

d) Once in five Year

a5 et
55.5099TH T
83.60 dHHET

Which of the following is incorrect
regarding to the plinth area —

a)
b)

Qtr Type
N
I

Area
34 Sgm
455qm

c) ] 55.505gm
d) 1\ 83.61 Sgm

AR Yo fsior e dfear
(HEIHNEEYTH) & HTARCETET
afRiT & fauRor & waw #
ol & & = a9 2
FraETA Fgfa
3) AT a¥ & s
aw
SeUe F a¥ A U
irg
) e afdow
X
g) Wrsr afdww

iy
Which of the following is incorrect in

. connection to the schedule of White

Washing as perlRWM -

Structure Frequency

a) Hospital Once a Year

b) Refreshment Once a Year
room

c) Rest Houses Once a Year

d) Running Room  Once a Year
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89.

AR 2w # oot & Re vy @
# A g voneh wafde -

HIH-FRT o

NFE-FwT 37U

T T & e Refver wee
(R=T) * 399%T

QA I Wi

Water proofing system of roofs
prevalent in our country is —

a) Lime Concrete terracing
b) Mud-Pushka treatment

C) Water proofing using bitumen felt
d) All of above

T e ¥ Ay
S &89 F yfafafey we

areT MW E -

)T vd Y Ay
) T E Ay
)3T UF 37 &
)M aF

Patna is the representative town of
the following climatic zone —

a) Hot & Arid Zone

b) Hot & Humid Zone
¢) Warm & Humid Zone
d) Cold Zone

o Aol & Rt @ welemrary
# AT gerr R sy
HTERTFHAT FEF B ¥ 2

T Aol & Tt g
dr Aoft & Rt oy
Hr Ao & wewt op

T { PE gy

4 4 48 49

90.

91.

Waiting Room need not be provided
at -

a) ‘A’ Category Station
b) ‘B’ Category Station
c) ‘C’Category Station
d) None of above

mﬁa,-m-éqmrtar?zw
3oy By S ¥ FgeaA
IaRrse Ffer A A 3

3) 0.1ppm
) 0.2ppm
H) 0.3ppm

%) 0.4ppm

Minimum residual chiorine to be
available at the farthest point of the
water supply is -

a) 0.1ppm

b) 0.2 ppm

¢) 0.3 ppm

d) 0.4 ppm

HEIH ¥UT a7 gy R 3=
T sugRor fiy HUSROT aTHar

B sTaar e aife-

) 24 99 ¥ Y I Ay
AR S 39T & v
IGEE: ]

L)) 24 9 ¥ R SRy Ay
TR I IT0T & v
G

) 24 9o F Ry oY Ay

AR ST 39T & 3mey

TR S,
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The storage capacity of high level
storage with efficient stand by pump
should be higher of -

a) One - third of normal water
consumption in 24 hrs

" b) One - third of maximum water
consumption in 24 hrs

¢) One - half of normal water
consumption in 24 hrs

d) None of above

ST f THr Hr gwE fvad
AU 9T Y S iR

3 38%

)  6FF

¥) UF ay

T)  HEA SfaR ¥ faviw &
IHFER

Cleaning of drinking water tank should
be done at the interval of —

a) 3 months
b) 6 months
¢) One Year
d) As decided by Divisional Engineer

Hfazor gomer @ 3w AT #@r
i there F O AW & AT
fesméer foram T & | TRl Yo
foraor S Wigar F IHTER
HepRifde o HaRT -

H 15
g 25
#) 35
g)  39gFd H @ Fg A

The distribution system is designed for
the average demand multiplied by a
peakfactor, The peak factor is
recommended as per IRWM s ~

a) 1,5
b) 25
c) 35

d) None of above

a #forT gaRa & fore dser
@ W FYerad Haflse gae
grar -

n  Im

L)) 12m

) 17m
g  3ugEd & @ B At

The minimum residual pressure for Two

Storeyed Building at ferrule point
is —

a) 7m
b) 12m
c) 17m
d) None'of above

fraer siaer WX iR st &
T AT & waw F AR
AT G@rRT  FAOIT SR

T ST g@ar 8-

3) 6 HAlE
q) 1§
®) 2a¥
g) say

A certificate in connection to the
correct demarcation of land
boundaries is to be submitted by the
Section Engineer at a frequency of -

a) 6 months
b) 1 Year
c) 2 Year

d) 5 Year




96.

97.

98.

Al FIET e fr S wder T
g &

31 841x1189
¥) 594x841
W) 420x594
&) 297x420

The trimmed size of ‘A1’ drawing
sheet is -

a) 841x1189

b) 594 x841

€) 420x594

d) 297 x 420

T 7% ¥ R a5 A& 7

a‘fﬁmmmaﬁrh

N 2
q) avr@
¥ s
%) 10@Rm

The maximum value of work order in
zonal works is —

a) 2lacs

b) 4lacs

c) 5lacs

d) 10lacs

AT FHIAT Y A YT FT
A Bt gar
3) 51 AT
q) 57 A
q) 41 ARy
g) 38 AT

The minimum clearance of check rail
of Level Crossing js —

a) 51mm
b) 57 mm
¢) 41mm
d) 38mm

99.

100.

Yo ¥ & 305 AT @
FRA AR IS FC A 4420
frefeties 39T o Atoer w &
v wewl # oisar e o
T & U 4 & o A e
AT gl Pratt gl &7

3 1675 el

@) 1905 AT

) 2135 AT

g) 2360 AeefeY

Minimum horizontal distance from
the centre of the track to any
structure except a platform, for
existing work from 305 mm above Rail
Level to 4420 mm above rail level is —

a) 1675 mm

b) 1905 mm

c) 2135mm

d) 2360 mm

& F Fow ¥ Ao Degnt
AT & 7@ aw ATH s
gl e ghelr &

3) 1670 Ay

q) 1675 ey

|) IGSOW

3) 1905 Afetrey

Mlnim_um horizontal distance from

centre of track to face of the
passenger platform coping is-

. a) 1670 mm

b) 1675 mm
¢) 1680 mm
d) 1905 mm
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101)

g it fr &2
¥ ]

) s
) ==
T TR AR A

102) &9 FY TrormeT B4 six forf et

grft fer s & Jefda 82
d) TSR 343
q)  AgeR 343(1)

q)  AgUER 343(3)
q) AT 344 (2)

103)  TIoTTaT e ¥ Srqare weT A gfY
T 3or &1 Fra 8T F asfiga far
™ E?

T
T &
Tq) GG
T) 1K

104) FafRRE@IFAaT TSI T &I H
AT 87
&) REARNE-S
T) a9
q) FETAA T
) IIEUE

105) 9ed 94 f2=41 f3adq &a Aqmgr Sran
7
a) 10 faawET
) 11 ffawe
q) 09 faawx
) 14 faqmEe

106)

107)

108)

109)

110)

Fedrr R afafd % sreraer 1 a0
87

a) st

T)  agufd

) g

7)  fARas ()
orTaT Ft dadrT afafa # fra
qEE B4 &7

I 20

) 10

T 30

3) 15

HfeT &Y amedt gy § FIAE!
ary7 fafAfee 78 82

q) e

) IE

®) Ao

T) FrET

oAy srfafaaw § fraeT ITgd
g7

T 09

) 11

T 12
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) g et sy, @x

q) iy Mides ey 9d
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q) A A AR
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Answer Key




